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1| 8780 | O] 7| 7|10| 8] 5] 7 23|SIM, Mec1, Mec2, DTI2, TM / Termoth2, RM2, OM1, PAC, VM
2| 9230 | O] O] Ol O] O] Of O 0|SIM, CE, GD / Mecanisme, Termoth2, TCD, RM2, PAC, VM
3| 7900 | O] Of Of O O] O] O 0|SIM, Mec2 / RM1, Mecanisme, Ed fiz2, MN1, Ed fiz3
4] 9706 | 7| 51 9| 9| 8| 9| 7| 7,733] 38|Mecl, Mec2, Algebra, Fizica / Mecanisme, OM1
5| 8804 | O] 6] 6 9] 8| O] 9 20|SIM, DTI1, GD, Mec2, DTI2 / RM1, Mecanisme, Termoth2, RM2, VM
6| 9165 |10[10| 9|10] 9|10|10 9,71 30
7| 9167 | 6/10] 9| 9| 8|10|10 8,41 30
8| 8832 | O 7| 6| 7| 8| 7|10 23|SIM, Mec1, DTI1, GD, PCLP / Mecanisme, TCD, OM1
9| 8833 | 5| 8| 8| 9|10| 7|10| 7,967| 30| -/Ed fiz2, Ed fiz3, Practica dom
10| 8835 | O 51 6 9] Of O] O 11|SIM, PCLP / Mecanisme, RM2, OM1, PAC, VM
11| s400 | Of 9] 7| 9] Of O] 8 24| -/ OM1, VM
12| 9761 | 7| O] 5] O] O] Of 7 21|AM, DTI1, PCLP, Termothl, Chimie, TM / Mecanisme, Termoth2, RM2, OM1, PAC
13| 8873 | 6| 8] 8| 9] 9| 9|10 8,2 30| - /OM1, Ed fiz3
14| 9172 | 8|10] 8| 9] 9| 7]10| 8,667| 30
15| 9177 | Ol O] O] O] O] Of O 0
16| 8900 | 5| 8] 7| 7| 9| 5] 9| 7,033] 30|SIM, DTI2, Termothl, Chimie / RM1, Termoth2
17| 9179 | 6[/10| 8| 8] 8| 7|10 7,833] 30
18| 8910 | 4| 7] 6| 7] 7| 9] 9 23|SIM, GD / OM1, Practica dom
19| 9182 | O 8] 8| 7| O 9]10 17]SIM, Mecl, GD, DTI2, TM / RM2, OM1, Tribologie, VM
20| 9184 | 7| 9| 8] 7| 6] 6| 9 7,21 30|Ed fizl/ -
21| 9831 | 7] O] Of O] O] 5| 7 17|Termoth1, TM / Termoth2, Tribologie, VM
22| 9186 | 9|10 9|10| 8|10J10| 9,267| 30
23] 8500 | Of 7| O 8] 7| 5|10 20|SIM, Mec1, GD, DTI2, Chimie, TM, Ed fiz1/RM1, Mecanisme, Termoth2, TCD, Ed fiz2, Ed fiz3




24| 8946 | 4(10] 7| 7| 7| 7|10 23| -/ OM1

25| 8525 | 6 8| 7| 7| 8| 6| 7| 6,967 30|Termothl/TCD

26| 9189 | 7| 8| 8| 9| 7| 8|10| 7,933| 30

27| 9013 | 8| 9|10 9|10 9|10| 9,167| 30| -/ Termoth2, Tribologie, Practica dom

28| 8568 | O] 5] Of O] O] O] O 3|SIM, DTI1, GD / Mecanisme, TCD, OM1

29| 9020 | Of 6] 9 9] 9| 5| 8 23| -/ OM1

30| 8596 | 0|10|] Of O] O] 6|10 9| - / Mecanisme, RM2, OM1, PAC, Tribologie, Ed fiz3

31| 9047 | 5] 8| 7 7] 8] 6| 9| 6,933] 30|Mecl, Mec2, DTI2, Algebra, Termothl1, Chimie / OM1, PAC, VM

321 9050 | O 7] 6 7| 7] O] O 17|SIM, Mecl, Mec2, DTI2, Algebra, Termoth1, Ed fiz1 / Mecanisme, RM2, OM1, PAC, Tribologie, VM, Ed fiz3
33| 9088 | 6 9] 8[10| 9|10| 9| 8,467| 30

34 9567 | 5| 8| O] 8] 8] 0] O 21|CE, Mecl, GD, Mec2, DTI2, Termothl, TM / RM1, Mecanisme, Termoth2, RM2, OM1
35| 9106 | 8(10| 8(10|10/10|10| 9,333| 30

36] 9112 | O] 9| 6 8| 7| 5|10 23|Mecl, DTI2 / Termoth2, RM2, Tribologie, Ed fiz3, Practica dom

371 9115 | 6| 7| 6 6] 7| 7| 8 6,6] 30|Mec2, Fizica/RM1, RM2, OM1

381 9147 | O] 9| 7 7] 7] 5] 9 23|Mec2, DTI2, Algebra / RM2, Tribologie, VM, Practica dom

39| 8261 | Of O] Of O] O] Of 9 10|SIM, Mecl, Mec2 / RM2, Ed fiz3

40| 9206 | 5| 8| 8[{10] 8| 7| 9| 7,633] 30

41| 9157 | O] 6| Of O] 7| Of10 12|DTI2 /-




